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POLITICAL SCIENCE Azl [Qati

PAPER - II qy:-II

Note :This paper contains FIFTY (50) multiple-choice assertion/reasoning/
matching questions, each question carries TWO (2) marks. Attempt All
questions. :

QA : ) wwerd v (W0) oglsally wadl, wuig v Assl srtiadil uadl
B, M Wadldl wae auarl 8. uds w4 () 3@ 8.

1 Plato advocated : 1. @do A well Raad 50 7

A) a universal concept of justice s
) P of JERH (A) =l wdeiiAs [@Qedad

(B) a purely legal concept of justice
(B) -l iyslaul stll [asias

(C) a metaphysical concept of

- (C) =l weiilas Reuarl
justice

(D) a concept of justice which (D) Gual dHia uisell & 2l -l

combines all of the above [Qeyart

9. Which one of the following is not 9 fld-unidl sdl wan SReudl

an element of Kautilya’s idea of the ,
al29Ud Yada 87

state ?

(A) il (udeils)
(A) Swamin (Sovereign)

B) gt ((eat)
(B) Durg (Fort)

(C) Mitra (Ally) (C) Bt (uell ur)

(D) None of the above (D) Gu sidusl [
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According fo John Locke, the
decision regarding revolt against the
sovereign is to be taken by :

(A) Majority of the legislators
(B) Consensus

(C) The society as a whole

(D) The aristocracy

Which one of the following has been
rightly attributed to T.H. Green ?
(A) Fréedom is somef.hing positive

(B) Freedom is the power to do or
enjoy something in common

with others

{C) Freedom is determinate and
does not include the freedom to

do anything and everything

(D) All of the above
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sl disl Mt 4o, (A Y s
adaay] WA sl Fufy aq

A5AH?

(A) [Qaid Aodi-) oigul
B) ualgid

(C) ¥ AT

(D) GxRtaznd

(A U4l sui [Qsey AR 4 wale

qd ez us §?
(A) A@daAdl 2 S52UMS &

(B) w@cdatdl 15 i) 33 & % 4 §5s

53] w5 iy 0l el wsy

(C) 2adatdl RUlAd & 1 Q Qs o)

Fu S91 A adaudt e9e el »uuc)

(D) GUR-L



According to Aristotle, democracy is

a corrupt version of :
(A) Aristocracy

(B) Polity

(C) Oligarchy

(D) Monarchy

The term ‘ideology’ was first used

in the year :
(A) 1789
(B) 1792
(C) 1795
D) 1797

Which one of the following books did

Gandhi translate into his native

Gujarati ?

(A) Apology

(B) On the Duty of Civil
Disobedience

(C) Politics

(D) The Kingdom of God is Within
Us

Pol. Sci.-I1
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il e 2wdaz disudl 3

Y4lnl s [Qsedid dwsel 6 7
(A) Graidaudl

(B) Ayual

(C) sfa-taudl

(D) sl

‘ruzazel’ A wlReuls d3ls 2l

ydel Guaial syl asl Al edl ?

(A) 1789 |

(B} 1792

) 1795

M 1797

13 A4l s Yaelse 2iedlopa grudla

eMia 54 ed?
(A) el

(B) it H{l sydl s [laa

SEENEH IR
(C) wiladlsy

M) 4 GFosH »iis ous & [l xnx
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The Rawlsian concept of justice is

based on :

(A) Distributive Principle

(B) Agreement Principle

(C) Difference Principle

(D) Joint Method Principle
According to Bachrach and Baratz,
non-decision making is :

(A} the ability of powerful groups
to prevent certain issues from

being discussed

(B) the tendency of citizens to

distance from politics

(C) the ability of the powerful to
change citizens’ minds on key
policy issues

(D) the inability of politicians to

make up their minds

Pol. Sei.-IT
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A U4 su Qsew v Flea-dl ~qu-l

[Qeuant 2wandda §?
(A) slleydla Mliua
(B) 392 Blf=ing
(C) ol MlRua

(D) AS-2hus Blwua

GUSAUS il GUAA Hl itz Fefy

2l me ¢ :

(A) 235 WYL Gur 2l AR ya
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9l
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oeeal{l &t
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10. Which among the following

11.

statements is nof correct ?

(A) Post-behavioural political
theory interrelates value and

fact

(B) Post-behavioural political

theory is ethnocentric

(C) Post-behavioural political

theory is tied to action and

relevance

(D) Post-behavioural political

theory is change-oriented

David Easton was the exponent

of :

(A) Structural functionalism
(B) Behaviourism

(C) Systems approach

(D) Functionalism

Pol. Sci.-I1

10.

11.

A2 Aden R 54 R 49 a4l?

(A) wtr—ddragl ulddlse Radl yeu

A 835 URRUR AlsH 89

(B) @q—-ad-ael wiladlsa (Auxl

Sadidgls’ (s ol 3d) 8

(€) wd—adnadl dddsa Aud s

i WRIPSAL A sl ©

D) vg-adqadael wilddlsa Aurl
aseuaad] B

3dls et (1A WSl st [Qseusl uadl

gl?

(A) WwHistdae
(B) dd-die

(C) arar w6

(D) sdas
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12.

13.

Constitutionalism implies :
(A) Having a constitution
(B) Having a written constitution

{C) Having an unwritten

constitution

(D) Having democracy with limited

government

Which of the following statements

is not correct ?

(A} In a unitary form, there is
devolution of power from the

central government to the units

(B) In a federal system, there is a
devolution of power from the

central government to the units

(C) In a unitary system, the units
wield power as per the decisions

of the central government

(D) In a federal system, both the
centre and the units derive

their power from a constitution
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14. Which of the following is not a

15,

feature of the elitist theory of

democracy ?

(A) The position of control and
decigion-making mechanism in
the political system are always
occupied by a small group of

individuals

(B) There is no competition and
adjustment among the various

elite groups existing in society

(C) The elite groups are well-

organised

(D) The elite group generally tries

to protect its own interest

Almond and Verba have listed three
ideal types of political culture.
Which one of the following has not
been listed by them ?

(A) Parochial political culture
(B) Ihdustﬁal political culture
(C) Subject political culture

(D) Participant political culture
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-y

£9?

(A) BN Aaaml vigu A el
Gttt ot dR L o ALl Wy

QxS Sy &
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a2 58 wal ¥ Wil eldl el
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(A) d5Ra A% Ala
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(D) wieldl uxrdla gl
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- 16. What among the following is the 16, 1 Vdlisll s4i Rsey Wity
characteristic feature of UYL e 37

bureaucracy ? )
(@) UMD Yl

(@) Traditional authority
: (&) Meududl wat
(b) Charismatic authority
g () dsiold A

(c) Rational authority

(d) 2slse d3ausiall
(d) Technical superiority

S :
Codes :

(A) (a), (b), (c) (A) (@), (B), (¢)

(B) (o), (d) (B) (o), (@)
(C) (a), (&) (C) (a), B)
D) (@), @) D) @), (@)

17. Who among the following called 17. A xifl 55 ouRd-dl ALY uy

India’s political party system as ‘one YelRA D1s vella adfaq way’ A3 Midl?

party dominant system’ ?

(A) gd%R
(A) Duverger

(B) a1z
(B) Weiner

(C) A8y

(C) Macridis

(D) Rajni Kothari - (D) Rl sisll

Pol. Sci.-II 10



18.

19.

Choose the correct option :

When there 1is a coalition

government,

(A} The political parties merge

their organisations

(B} The political parties make

ideological compromises

(C) Parties work out a common
minimum programme based on

consensus

(D) Ruling party gets support from

outside

Which of the following is not a
traditional approach to the study of

comparative politics ?

(A) Historical approach
(B} Systems approach

(C) Legal approach

(D) Philosophical approach

Pol. Sci.-11
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il [Asew wis 52
ULy AYSsd USRSl B I

(A) UFSU WAl Bl dosd {adin

(B) uxLlu et s slu—9ls 53 €

(©) sty val AdAuladl agnn
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-

D) il ua slE 25l qnd 9

Aa-uigl sal [asew dariicis
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2oL FH1op Al ?
(A) HAletfs af3em
(B) o4l (oM
(C) sl A3
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20. What among the following is not 8 90 |3 Wdluiell s [aseny oyzard] el

isti of India’s Cor
characteristic feature ndi ulBauied] RS @ee e ?

electoral process ?
(A) s HouUY HABlR 8l

(A) Single-member constituency

o

(B) uddl d el ugli
(B) First part the post system

(C) wdbs Halasiz
{C) Universal adult franchise-

D) sty wla=fic

(D) Functional representation

21. Which one of the following is not 21. A3 U4 syl Rsey e {llar Helesls
the objective of the Directive
[Agidiql Geu e ?
Principles of State Policy ?

(A) To establish a welfare state (A) sed uUzudl @yn)

(B) To establish a religious state B) 4l 2wl iy

(C) To ensure socio-economic

(©) Arulrs—aulds <y yFBad s2g

justice

(D) To establish a secular state (D) ail+%a 2w wyq)

Pol. Sci.-I1 12



22.

23.

24.

The Constituent Assembly was set

up under the :

(A) Cripps Mission

(B) Cabinet Mission Plan
(C) Wavell Plan

(D} Nehru Report

Who said the following :

“India’s Constitution was born more
in fear and trepidation than in hope

and inspiration” ?
(A) Paul Brass
(B) Myron Weiner
(Cy K.C. -Wheare
(D) Iver Jennings

Which of the following Amendments
to the Indian Constitution has made

the Right to Education a

Fundamental Right ?
(A) 9l1st
(B) 92nd
(.C) 93rd

(D} 94th

Pol. Sci.-11
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22.

23.

24,

gl wedl 2L A3 U4 s Qsey

glxy 2y ot 7

(A B Hlax
(B) 3[Binz Hlud i
(C) dad wit
D) sy »da

“ofl et GIULTEL UYL VA HLSIBIA TE
o e diRdl 928 =y g’ 2 Q4
3 4 siel sy ?

(A) W& sl

(B) i aur

(Cy $.4l. adluz

(D) »usaz w-lo

{12 sl su olfrm yauivL 1o
(Bava-i mlusiz yaoyd »{asR

et ?
(A) ¢l
(B) Ml
(C) 3l

(D) «¥ul



25,

26.

The Speaker of the Lok Sabha in

India enjoys :

(A) No right to vote

(B) Right to vote like any other

member in the House

{C) Right to vote only in case of a
tie
()} Two votes—one-ordinary vote

and one in case of a tie

Thé Karachi Session of the Indian
National Congress held in 1930 was

significant in so far as :

(A) It insisted on greater share for

the Indians in the

administration of the country

(B) It recommended the adoption of
Hindi as the official language
of Iridia

(Cy It  accepted communal
electorates

(D) It adopted a resolﬁtion on
fundamental rights and
economic policy for the future

Pol. Sci.-Il
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27. Which one of the following is not

28.

a function of the Election

Commission of India ?

(A)

(B)

(C)

(D)

Preparation of electoral rolls for
the election of Parliament and

State Legislatives

Settlement of disputes
regarding allotment of election
symbols to parties at the time

of election

Deciding the names of the

political parties

Ensuring that the voters’ lists

are updated regularly

Who is the author of Political

Economy of Development in

India ?

(A)

(B)

(0

)

Amartya Sen
Pranab Bardhan
Sudipta Kaviraj

Prabhat Patnaik

Pol. Sc1.-11
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3 14l sal [Aseu onzdiy deoll dud

sid 7

(A) Hudly »a v (Al |

geull iz Hdslz wel duz sdl

(B) el avd et sAudal el [aa

adl dxziz [Aaiwe

(C) 21%51d Mei-lL M issl sail
F{taiq_

(D) Hesiz @€l [FRumda a yard
ylEq sig

Yadsa SaHABl s Saauz O

SFsur’ AL dus s B ?

(A) HLTAL A

(B) A5 SREIA

(C) ylend slAe
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29,

30.

Which of the following components
of the Indian Constitution are not

Jjusticiable ?

(A) Fundamental Rights

(B) Emergency Powers of the
President

(C) Directive Principles of State
Policy

(D} Financial Powers of the
Parliament

The Fundamental Rights can be
suspended during an emergency
by :

(A) Governor

(B) High Court

(C) Supreme Court

(D) President

Pol. Sci.-IT
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(B)

Mizcdla ojtizon H3A L4 we sl
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31. According to Chester I. Bernard g1 3303 w8, ela-usHL Md oot (1 14

which of the following is not . N .
sl [2sey 2z 285 Slal Hi2 Al

correct about an order to be

1] ?

authoritative ?

(A) Tt should conform to the (&) sl et Ao wid A

purpose of the organisation (B) 239 25 dl $idl A

(B) It should be intelligible . A
(C) ==nsla fld Micifed 53 dedl elal
{(C) It should be motivating
A5,

monetarily

(D) 21 53] 9sid 2l sldl sl
(D) It should be feasible

32. Who among the following introduced 32. AWIeHlL it wly Draslew’ Al v

the concept of ‘Zone of Indifference’ 13 U8 g wewl?

in an organisation ?

(A) &8 WA
(A) Herbert Simon

(B) Sl Hs3ldLT
(B) Douglas McGregor

C) e 2S. oR-US
(C) Chester 1. Bernard (C) :

(D) Chris Argyris (D) B wrouddlA

Pol. Sci.-1T 17 [P.T.O.]



33. In the area of organisational

principles :

(1) In working out organisational
principles, Gulick was
influenced by Fayol’s fourteen

principles

(2) Urwick warns against the ‘use
of committees for the purpose

of administration’

(3) Gulick gives no regard to the
bases on which work may be

divided

(4) Fayol believed in the principle

of ‘unity of command’

Select the correct answer from the

given codes :

(A} (1), (2), (3) and (4)
(B} (1), (2) and (8)

(C) (1) and (4)

(D) (1), (2) and (4)

Pol. Sci.-I1 - 18

33. sl Rgidir &

(1)

(2)

(3)

(4)

das{lu Reidl 2uqni 9yfasnu
[Q2u121 $alant 1 Rigicdiell uenlad

UL et

algdexi wBaainl Guaisy 0%
Bely A9l 20yl wdl
sidfaeomnl suml ousid dyfets
LI

suid “YM2l 20s sues’ -1 Bigiani

-

Hi £

el sisHigl Al Gz ude 3

(A) (1), (2), (3) and (4)

(B) (1), (2) and (3)

(C) (1) and (4

(D) (1), (2} and (4)



34. Match List I with List II and select  34. 21— - 9—3 A HoQl. Aot HE

the correct answer from the given 581l GuydL $3 :
codes
Yigl-q Ygl-2
List I List II

@ 3slRs edorol (1) w3Ruwd

(@) Frederick Herzberg (1) The Need .
sellagu
Hierarchy _
' () wiotsn WAl (2)  ‘sésew’l
(b) Abraham Maslow (2) The Existence

GulRala
of ‘Clects’
() 3s soiey. 3 (3) ‘“widldex-
(&) TFred W. Riggs (3) Motivator-
' s’
Hygience
{01y
Approach
) A side @) oewdlladlHdl
d) M.P. Follett (4) Concept of
_ [Qenan
Partnership
Codes : 88 3
@ ® © @ (@ & @ (@
@A 3 1 @ @ A) Q) 1) (2 4
B) 2) @ & (@) B 2 @ @& @D
€ 1 @ @ (3) €1 @ @ @
D) 4 3 @ (1 Dy @ @ @ @
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35. According to Mooney, conferring of g5 YHHL Ml G2a wifasiRl gzl

specified authority by a higher N . .
pecilied au y By g AwAdl [Qlre waldl 22 5 -

authority is :
(A) [a-dis2a

(A) Decentralisation

(B) alalagu-
(B) Delegation

(C) [Gee-lszw

{C) Deconcentration

(D) Disintegration (D) [Avilsaa

36. Who defined development 36. [asin wwuadl ““sif-unliq, wu-

administration as “Action-oriented, Al adlaz 3’ a1y 89 ouva s9

goal-oriented administrative

87
system” ?

(A) &S soley,
(A) Fred W. Riggs

(B) sdise qlest
(B) Dwight Waldo
~ (C) Robert Dahl (C) Risd seid

(D) Edward Weidner (D) 21848 AlHR

Pol. Sci.-II 20



37.

According to David Nachmias and
D.H. Rosenbloom, which one of the
following is not a feature of

participatory bureaucracy ?

(A) Civil Service Association to

protect them from political
tyranny

(B) High level of =social
representativeness in a

national bureaucracy

{(C) Participation of bureucratic

employees in decisions

(D) Citizen participation in

bureaucratic policy making

38. Taylor’s concept of Mental
Revolution stands for :
(A) Cooperation, Harmony and
Restricted Output
(B) Restricted Output and
Cooperation
(C) Harmony and Cooperation
(D) Economy, Cooperation and
Restricted Output
Pol. Sci.-11
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37. slas -l wa gl W As-ogusil

yeigaui I3 U4 sl [Aseu odflerdl

dHaslAl] aa dl?

(A) UFAA ALz A9l HI2 Unel
el Hsa

(B) sl 2HaeiRElML G sty

s ulalrfaa

(© eyl »vast salai-Hl

wRal

D) adlady (a asaui dis euellerl

38. 2l ‘Hrza Adieyu-t’ Retia-idl vid

QY B

(A) Asstz, Aleicy it qullzd Fux
(B) HullRd [FMuar »in wssi

(C) aAlerdd A ALsiR

@) 2edda, Aestz 2 wallka Ay

[P.T.O.]



39. Given below are two statements, one

{abelled Assertion (A) and the other
as Reason (R) :

Assertion (A) : Talking  about
responsibility,
Follett maintains
that “the distinction
between those who
manage and those
who are managed
is somewhat

fading”.

Each
function must be

Reason (R) : individual
seen in terms of its
interdependence
with other
functions in the

organisation.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) (R)
individually true and (R) is the
correct explanation of (A)

(B) Both (A) (R)
individually true, but (R) is not

and are

and are

the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true
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39. (A) i QA &8 wa (R) 4wl aé

-

9.

53 (A) - gatoel V1Al Hee{nl
side Faayds 58 6
5, 'y disl usia 53
£ e YH A, UolHA A
9 > ™edul ol
Ay .7

5139 (R) : HASAM( ‘6%
Asdold sidd s
sil ALEAL YRR

wUELRd’ s1d a3

ofal AL,
1A Y4 ‘sis? widl 2™ G wwe
PRI
_‘s“lS :

(A) (A) 211 (R) si 2daA<ld qw &
2 (R) -l (A) [An-l amogd el
£

(B) (A) 211 (R) ol ef3aaid Tl 2
8, uig (B < (A) [l anyla
A ]

(C) (A) WY & uig (R) Wi 8.

(D) (A) vig & uig (R) A B



40. The institution of ‘Ombudsman’ was

41.

42,

first introduced in :
(A) Denmark

(B) UK

(C) Sweden

(D) Switzerland

Which of the following thinkers
encapsulated the concept of

‘Absolute War’ ?
(A) Clausewitz
(B) Douthet
(C) Jomini

(D) Mackinder

In the field of nuclear strategy what
does MAD stand for ?

(A) Missiles Are Dangerous
(B) Mammals Are Doomed
(C) Make America Die

(D) Mutually Assured Destruction
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40. ‘v’ e A USL s 2l

4]1.

42,

AL MR s sl sudl sdl?
(A) &+3us

(B) 4%

(C) ellsn

D) Wl dws

yel ygeil e A 44 59 uRwled

sul?

(A) saiudlen
(B) gdd

(C) 2l

(D) AR

29 2@l A4l ‘MAD® -l 4 e
A 97

(A) Paudet w2 %4

(B) AU IR S

(C) As wAls s

D) el 28 Slzsar
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43. Who said “The power to hurt is
nothing new in warfare, but modern
technology enhances the importance
of war and threats of war as
techniques of bargaining and
intimidation” ?

(A) Bernad Brodie
(B) Michae! Hoffman
(C) Ashley Tellis

(D) Thomas Schelling

44. In the post-Soviet era Russia’s
outlook at the global level is marked
by :

(A) Rigid ide(;logical positions
(B) Enhanced role for Soviet era
legacies
(C) Pragmatic de-ideologised world
view
(D) Rigidities of cold war era
Pol. Sei.-IT

43.

44,

24

2 U4l 51 55 % - ‘ugil [Aias ula-dl
A <ol uig wugls és-ﬁdlw 3l
ol it qrsl Yarll Aleiuw 2
2tsu{lellzy uyBail glat Yl v
asmd @7

(A) oS 9ol

(B) W5 isHA

(C) »dl 2lax

(D) vy ol

[Asaqseial w—ilfade youi @l

glesian 1A U4 sui Rsey R-dld 53

-

£97
(A) Raryel-dl Rufmi wsa

(B) ilade o Al Riaa oyfist
(€) Rururelysd @aey Asaghe

(D) dys yadl ¥sdizil



45.

Liberal Idealism in International
Relations stands for :

(A) Inevitability of conflict among
states

(B) The argument that colonial
- economic relationship continue
even after decolonization

(C) Possibility of promoting
security by  promoting
cooperation among states

(D) The argument that power is

primarily a masculine concept

Match List I with List II and select
the correct answer from the code
given below :

List I List IX
@ Realism (1) Genealogy
(6) Liberalism (2) Balance of
Power
{c) | Social constructivism (3} Collective
Security
(d) Post-structuralism {4} Cultures of
Anarchy
Codes :
@ @& ©@ @
@w B @ 1O @
® @ 3 1 @
© @ & @ @
D@ @ @ O
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45.

46.

(a)
(b)
()
(@)

sidrangly Aeiuini Gelamdaqiegl
wieslaledl v iy B -

(A) ol a2 Quaedl sl

(B) [Bl4daeidate oite oL A@-agl

s Aolal Ag W@ B A ecdlat

(C) ULHL 42 HS5LL Mis~t LR

yadld Uit usuan

D) wals gRea AL AEne-l vad

9 wdl sella
ydl-1 4 wel-z wd Aadld sis-i
Guuisl 530 A™AL waAll |l ¢

qel—q el
ARdAdlE (1) dauadl
GelMddls (2) Al uHdle

Alums seséldlan (3) wnfds yra

Bl —HYALAE (4) n%sdil
gl
8S :
@ @& (© @
a @ @ QO @
B @ & O @
) @ @& @ W
D 2 @ @3 @O

[P.T.0.]




47. Which one of the following is not

48.

an Indo-Pakistan dispute ?

(A) Siachen dispute

(B) Sir Creek dispute

(C) Cross Border terrorism

(D) Dahagram dispute

The Kyoto Protocol of 1997-adopted

the programme for :

(A) ending global poverty

(B} the democratization of UN

system

(C) broadening the participation

within IMF and World Bank

(D) reducing greenhouse emission
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A U0 sul [Qsey tza—wlBd

dsuz dl?

(A) a4 [Quae
(B) R:4ls [Quaie

(C) AL wiRAl vidsas
(D) esuy [Quale

A U4 sw [Qseud Lees AL ‘swia)

Melse” AL sidsy U wy-uedl?

(A) Alas o el Mae

(B) rgdamaly disudls

(C) 2015 204 218, w4 [arqdl sui

anadld RAae

D) lldaiGa’ GduFHi yas)



49.

50.

What is the correct sequence of
Morton Kaplan’s model of system

analysis 7

(1) Balance of Power

(2) Loose Bipolarity

{3) Tight Bipolarity

(4) Universal International System
Codes :

A @ @ @ (@

By 3 @ @ Q)

©C @ 2 & MO

o L @ @ @&

The

Asia-Pacific Economic

Cooperation (APEC) forum :

(A) is part of a more general trend

towards regional blocs

(B) accounts for over half the world

- GDP

(C) has member states which
include authoritarian regimes

as well as democracies

(D) All of the above are true

Pol. Sci.-I1

27

49.

80.

WS, sulerl MaL RsdueL vyt

3 U syl Wil 51 97

(1) uvid Wl
2) ddi Rydlud
(3) Awd [ggdlac

(4) AdBLs vidzandy e

sls ¢

A) @ 3 @ Q)
By 3 @ 2 @
Cy @ @2 @3 @O
D 1 @ @) @

‘9 I8 — ARG s Ssiibis sipiniam’

(APEC) 33y :

(A) Mi2fLs ol A8l Utiry Blsel eito
2]

(B) [aszart wal @ .6l oaz &

(C) 2uuuEtd] wid dissdl AL wa

AGYYE Y2UX 9

(D) GUAL AMIM AL D
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ROUGH WORK
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